CONT. 12TSB18 TRACK

CONT. 10TSB16 TRACK

TRACK TO BE IN FULL BEARING CONTACT

WITH STUD BELOW.

CONT. METAL SIDING, BY OTHERS

CONT. 10TSB16 TRACK AT BASE

—
—

—

—
— - ]
PO e NN 7, £/, 42211172 11
—
e

G.C. VERIFY O.H. DETAIL ——/

ISSUED FOR
CONSTRUCTION

STATUS:

DATE:

BY:

THIS PLAN SHALL NOT BE MODIFIED WITHOUT WRITTEN PERMISSION FROM SRG ENGINEERING, INC. ANY ALTERATIONS,
AUTHORIZED OR OTHERWISE, SHALL BE AT THE USER'S SOLE RISK AND WITHOUT LIABILITY TO SRG ENGINEERING, INC.

REV:

L8x4x14 GAGE CLIP ANGLE
(LONG LEG VERTICLE)
(5) #10 SCREWS OR 0.177" PAFS
o
LD
” z
3/4" T&G PLYWOOD SHEATHING L T
SCREWED DIRECTLY TO METAL RAFTERS, ’, =
SEE NOTES ON SHEET S2 ”,l L= .
L8x4x14 GAGE CLIP ANGLE ””/1' ,,,,,,,,
(LONG LEG VERTICLE) A
(5) #10 SCREWS ” /////// } (CONTR. OPTION TO L6x3 1/2: HSS8x2X1/4", CENTER WITH STUD)
” === cewieizos. _—==== | CONT. L6x3 1/2'x5/16" FULL PERIMETER, BUTT WELD
S ZLLEEETT (UNPUNCHED SECTION) ~____—===""_ | ENDS AND CORNERS.
”ﬂ L= NORED SELTION)Y = l FASTEN TO TRACK WITH (2) 0.177"PAFS@16"0.C.
fpr 772270 o= ~ CONT. 10TSB16 TRACK -
,,,,,,,, TRACK TO BE IN FULL BEARING CONTACT |
///////// WITH STUD BELOW. |
,,,,,,,, (RAFTER BRIDGING @ 48"0.C. NOT SHOWN FOR CLARITY) {
/////// I
,,,,,, |
l
. g | ; CONT. 1/2" DEEP x 20 GAUGE HAT CHANNEL @ 24"0.C.
| : (CONTR. OPTION TO L6x3 1/2: HSS8x2X1/4", CENTER WITH STUD) ,
- ! CONT. L6x3 1/2"x5/16" FULL PERIMETER, BUTT WELD |
, | ENDS AND CORNERS. ,
, ; FASTEN TO TRACK WITH (2) 0.177"PAFS@16"0.C. I .
l , = 6CSJ16@16"0.C.
| s | <
| | | =
| 1 §
: } CONT. 2"X20 GAGE FLAT STRAP BRACING @ 48"0.C., INSIDE FACE OF STUD {J- =
l PROVIDE 1-#10 SCREW EACH STUD CROSSED. =
l (CONTRACTOR OPTION: USE DIETRICH "SPAZZER BAR" AT 48"0.C., | | &
: FASTEN SPAZZER TO EACH STUD USING STANDARD CLIP ANGLE CONNECTION) ' ,
| : CONT. METAL SIDING, BY OTHERS
l
|
:
CONT. 2"X20 GAGE FLAT STRAP BRACING @ 48"0.C., INSIDE FACE OF STUD ~{:+
100SJ16@16"0.C. ALL 3 NEW EXTERIOR WALLS PROVIDE 1-#10 SCREW EACH STUD CROSSED. - .
| (CONTRACTOR OPTION: USE DIETRICH "SPAZZER BAR" AT 48"0.C., A
FASTEN SPAZZER TO EACH STUD USING STANDARD CLIP ANGLE CONNECTION) | EXISTING METAL BUILDING
| 1
1
:
NEW ADDITION |
il
] f
: WALL STUD
:
CONTINUOUS
L 1-1/2" COLD
P ROLLED CHANNEL
, | , @ MAXIMUM 48"0.C.
t n
: CONT. 1/2" DEEP x 20 GAUGE HAT CHANNEL @ 24"0.C. l
i |
! | l X x ,
! ! | o
t 1 | T~ 2"x2"x16 GAUGE
; | | CLIP ANGLE 1/4° LESS
, , . THAN STUD WIDTH
| , , ATTACH USING (4) #10-16
, , , SCREWS. CLIP ANGLE TO
| | | BE AT EACH STUD.
| T} ALL STUDS TO BE STANDARD "PUNCHED SECTIONS" f“r
| / I
n 1 | | 1
] | | (THIS IS OPTION TO FLAT STRAP OR SPAZZER BAR)
l ! t l
; : : O : LATERAL BRACING USING SCREW ATTACHED CLIP
NTS
} { STUD TO BE IN FULL BEARING CONTACT : { |
| STUD TO BE IN FULL BEARING CONTACT WITH TRACK BELOW. — | 1
| | WITH TRACK BELOW. | | H
l | | |
l l | |
1 l l |
l ! CONT. 10TSB16 TRACK AT BASE ! !
I | N A | i ! N A
| TYP. TOP AND BOTTOM TRACKS | , TYP. TOP AND BOTTOM TRACKS
| l/ \ | ' l/ \
[ l 1 1
| | | \\ x
| | x
1/2" DIA. ANCHOR BOLTS @ 4'-0"0.C. AND 1/2" DIA. THREADED ROD ANCHOR BOLTS SET IN EPOXY SEALANT @ 4'-0" O.C. AND
WITHIN 1-0" AT ALL CORNERS AND SIDES WITHIN 1'-0" AT ALL CORNERS AND SIDES OF OPENINGS.
OF OPENINGS PROVIDE MIN. 8" EMBEDMENT.
PROVIDE WASHER AT ALL ANCHOR BOLTS.
FOUNDATION SECTION 2-2 FOUNDATION

NTS

pd
=lo
1, |5
- 5
z
[¢] [
g
O
g i
z s|e
R o]
2 Q
% gﬁ! O
- 26|55
3 ORL
wg 56|
§S 8855
X _NGlIZE
oS x|y
=6 EEE|S|3
(21
7y
=
<C
'.._
=
Z
o O
=z —
< = g
P 9 o
S 5 b
o Q CZD
o < O
Z o0
= g Q
< <yY Zv¢
o d = Oz
L = o=
s 2g
L O =z Oz
o QI i
o,k 9 x x Lk
s wnesIe
DATE SCALE
06—22—-04| NONE

SHEET S3




